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GROUP II PRELIMINARY EXAMINATION 2013 
 

1. Which of the following statements about respiration is true 
I.  Respiration results in lost of dry weight in plants. 
II.  The intermediate chemical reaction in the bread down of sugar in 

respiration and synthesis of sugar in photosynthesis are much the same.  
III. The oxygen concentration is not known to affect respiration. 
IV. Respiration is a constructive process. 
 
a) I, II and IV   b) II and IV 
c) I and II only   c) I and III 
Rthrpj;jy; Fwpj;j fPo;f;fz;l $w;Wfspy; vit rhpahdit? 
I. Rthrpj;jy; %yk; jhtuj;jpd; cyh; vil FiwfpwJ 
II. Rthrpj;jypd; NghJ rh;f;fiuia vspikahf;Fk; ,il Ntjp tpidfs; 

kw;Wk; xspr;Nrh;f;ifapd; NghJ rh;f;fiuia cUthf;Fk; caph; 
Ntjptpidfs; Mfpait ngUk;ghYk; xNu khjphpahdit 

III. Mf;rp[dpd; msT Rthrpj;jiy ghjpg;gjhf; fz;lwpag;gltpy;iy 
IV. Rthrpj;jy; vd;gJ Mf;fy; epfo;T 
a. I, II kw;Wk; IV  b. II kw;Wk; IV 
c. I kw;Wk; II kl;Lk; d. I kw;Wk; III 
 

2. Angiosperms differ from gymnosperms by 
a) Being evergreen 
b) Having compound leaves 
c) Being smaller in size 
d) Having ovule enclosed in the ovary 

MQ;rpNah];ngh;k;> [pk;Ndh];ngh;k; tifapy; ,Ue;J ,jdhy; NtWgLfpd;wJ 
a. vg;nghOjk; gRikahdJ  b. $l;biyfs; nfhz;lJ 
c. rpwpa mstpidf; nfhz;lJ d. #y;fs;> #yfj;jhy; %lg;gl;bUf;Fk; 
 

3. Consider the following statements  
(a) Dr. V.A. smith had called an Ethnological Museum for there is a great 

variety of racial types. 



 

 

(b) India is well- known as a land of great varieties. Because, there is a great 
variety of racial types. 

Of these: 
(A) (a) is correct (b) is wrong 
(B) (b) is correct (a) is wrong 
(C) (a) and (b) are correct 
(D) Both (a) and (b) are wrong 
fPo;f;fz;l $w;Wfisf; ftdp 
a. vz;zw;wtif ,dkf;fs; ,q;F trpg;gjhy; V.A. Rkpj; vd;gth; ,e;jpahit 

xU ,dq;fspd; mUq;fhl;rpafk; vd;W Fwpg;gpl;Ls;shh; 
b. ,e;jpah Vuhskhd khWgl;l jd;ikfis cs;slf;fpa ehL vd;W 

midtuhYk; mwpag;gl;Ls;sJ. Vnddpy;> ,q;F vz;zw;w tif ,dkf;fs; 
trpf;fpd;wdh; 

A. a rhp b jtW    B. b rhp a jtW 
C. a kw;Wk; b ,uz;Lk; rhp  D. a kw;Wk; b ,uz;Lk; jtW 
 

4. What is special about the following personalities? 
Pandit Ravi Shankar, M.S. Subbulakshmi and Satyajit Ray 
(A)  Recipients of Bharat Ratna Award 

(B)  Recipients of Lalit Kala Academy Award 
(C)  Recipients Sangeet Natak Academy 
(D) Recipients of Padma Vibhushan Award 
fPo;f;fz;l rpwe;j kdpjh;fspilNa fhzg;gLk; rpwg;gk;rk; vd;d? 
gz;bl; utprq;fh;> vk;.v];.Rg;Gyl;Rkp> rj;a[pj;Nu 
A. ghuj uj;dh tpUJ ngw;wth;fs; 
B. yypj;fyh mfhlkp tpUJ ngw;wth;fs; 
C. rq;fPj ehlf mfhlkp tpUJ ngw;wth;fs; 
D. gj;k tpg+rd; tpUJ ngw;wth;fs; 

 
5. Which is the correct sequence of various sectors in GDP of India is the 

descending order? 
(A) Primary sector, Secondary sector, Tertiary sector 
(B)  Primary sector, Tertiary sector, Secondary Sector 
(C)  Secondary sector, Tertiary sector, Primary sector 
(D) Tertiary sector, Secondary sector, Primary sector 
gpd; nfhLf;fg;gl;Ls;s ,e;jpahtpd; GDP apd; gphpTfis NkypUe;J 
fPo;Nehf;fpr; nry;Yk; njhlh;r;rpahf mikj;jhy; ve;j thpir rhpahdJ? 
A. Kjy; epiyj;Jiw> ,uz;lhk; epiyj;Jiw> %d;whk; epiyj;Jiw 
B. Kjy; epiyj;Jiw> %d;whk; epiyj;Jiw> ,uz;lhk; epiyj;Jiw 
C. ,uz;lhk; epiyj;Jiw> %d;whk; epiyj;Jiw> Kjy; epiyj;Jiw 
D. %d;whk; epiyj;Jiw> ,uz;lhk; epiyj;Jiw> Kjy; epiyj;Jiw 

 
6. The National Food Security Act was gazetted in 

a) September, 2013    b) August, 2013 



 

 

c) September, 2012    d) August, 2012 
Njrpa czT ghJfhg;Gr; rl;lk; murhq;f ntspaPlhdJ 
a. nrg;lk;gh; 2013   b. Mf];l; 2013 
c. nrg;lk;gh; 2012   d. Mf];l; 2012 
 

7. Net National Income (NNI) does not include 
a) Indirect business taxes  b) Corporate income taxes 
c) Depreciation Charges  d) The rental value of house-owners 
epfuehl;L cw;gj;jp (NNI) apy; Nrh;j;Jf;nfhs;shjJ 
a. kiwKf th;j;jf thpfs;   
b. fk;ngdp tUtha; thpfs; 
c. Nja;khdr; nryT   
d. tPl;bd; nrhe;jf;fhuh;fspd; tPl;L thlif kjpg;G 
 
 

8. Find the missing number in the place? 
 

 
a) 41  b) 35  c) 30  d) 28 
‘? Fwpapl;l ,lj;jpy; tUk; vz;izf; fhz;f 

 
a) 41  b) 35  c) 30  d) 28 
 

9. Find the missing term 

 
 

 a) 12  b) 18  c) 16  d) 24 
 tpLgl;l vz;izf; fhz;f 
 

 
 a) 12  b) 18  c) 16  d) 24 



 

 

 
10.  A sum was put at simply interest at a certain rate for 3 years. Had it been put 

at 3% higher rate, it would have fetched Rs.  300. Find the sum. 
a) 5000 b) 4000  c) 10000 d) 1000 
xU njhifahdJ 2 Mz;LfSf;F jdptl;b tpfpjj;jpy; Nrkpf;fg;gLfpwJ. 
mNj njhif 3% mjpfkhd jdptl;b tPjj;jpy; Nrkpf;fg;gl;lhy; &.300 
mjpfkhf tl;b fpilf;Fnkdpy; Nrkpf;fg;gLk; njhif vd;d? 
a) 5000 b) 4000  c) 10000 d) 1000 
 

11. A and B can do a piece of work in 10 days; B and C in 15 days; C and A in 18 
days. In how many days B alone do it? 
a) 30 days    b) 20 days 
c) 12 days    d) 18 days 
A kw;Wk; B xU Ntiyia 10 ehl;fspYk;> B kw;Wk; C mNj Ntiyia 15 
ehl;fspYk; C kw;Wk; A mNj Ntiyia 18 ehl;fspYk; Kbg;gh; vdpy;> B 
jdpNa mt;Ntiyia vt;tsT ehl;fspy; Kbg;ghh;? 
a. 30 ehl;fs;  b. 20 ehl;fs; c. 12 ehl;fs; d. 18 ehl;fs; 
 
  

12. In a certain code, LABOUR is written as KBAPTS, How is CANDID written in 
that code? 
a) DBOEJE    b) BBMCHC 
c) DZOCJC    c) BBMEHE 
LABOUR vd;w thh;j;ijia KBAPTS vd FwpaPl;by; vOjpdhy; CANDID 
vd;w thh;j;ijia vt;thW FwaPl;by; vOjyhk;? 
a) DBOEJE    b) BBMCHC 
c) DZOCJC    c) BBMEHE 
  

13. Match the Following: 
Currencies   Countries  
(A)    Dinar   1. Korea 
(B)     Von   2. Iraq      
(C)     Peso   3. Russia 
(D)     Rouble  4. Phillippines 

  (a) (b) (c) (d) 
 (A)  1  2  3  4 
 (B)  2  1  4  3 
 (C)   1  4  3  2 
 (D)  1  3  4  2 
 nghUj;Jf 
 ehzaq;fs;   Njrq;fs; / ehLfs; 
 a. bdhh;   1. Nfhhpah 
 b. Nthd;   2. ,uhf; 



 

 

 c. ngNrh   3. u~;ah 
 d. ugy;   4. gpypigd;]; 

a b c d 
 (A)  1  2  3  4 
 (B)  2  1  4  3 
 (C)   1  4  3  2 
 (D)  1  3  4  2 
  

14. The Conjugate base of [Fe(H2O)6]+3 is 
(A) [Fe(H2O)5OH]+3 (B) [Fe(H2O)5OH]+2 
(C) [Fe(H2O)5]+3  (D) H20 
[Fe(H2O)6]+3,iz msp Fwp 
(A) [Fe(H2O)5OH]+3 (B) [Fe(H2O)5OH]+2 
(C) [Fe(H2O)5]+3  (D) H20 
 

15. In the extraction of iron from its Haematite ore, the flux added and gangue 
formed respectively are 
A) Oxygen, iron oxide  B) Carbondioxide, iron carbonate 
C) Silica, iron silicate  D) Sulphur dioxide, iron sulphate 
,Uk;ig mjd; n`kill; jhJtpypUe;J gphpj;njLf;Fk; NghJ Nrh;f;fg;gLk; 
,sf;fp kw;Wk; frL KiwNa 
A. Mf;rp[d;> mah;d; Mf;irL B. fhh;gd;-il-Mf;irL> mah;d; fhh;gNdl; 
C. rpypf;fh> mah;d; rpypf;Nfl; D. ry;gh;-il-Mf;irL> mah;d; ry;Ngl; 
 

16.  Which among the following genetic codons codes as the stop codon during 
translation? 
I. UGC   II. UAA  III. UAG  IV. UGA 
A) I, II, III    B) I, II, IV  
C) II, I, III    C) II, III, IV 
,lg;ngah;g;gpd; NghJ kugZ> rhh;e;j Fwpad;fspy; vjpy; jil Fwpad; 
cs;sJ? 
I. UGC II. UAA  III. UAG  IV. UGA 
A) I, II, III  B) I, II, IV  C) II, I, III  C) II, III, IV 

 
17. Mid Atlantic Ridge 

 



 

 

 
Observe the given figure of Mid Atlantic Ridge, Match List I with List II and 
select the correct doe given below the lists. 
List I    List II – Name of the Ridge 
a) a   1. Challenger Ridge 
b)  b   2. Rio-Grande Ridge  
c) c   3. Walvis Ridge 
d) d   4. Dolpin Rise  

  (a) (b) (c) (d) 
 (A)  1  2  3  4 
 (B)  3  2  1   4 
 (C)  4  1  2  3  
 (D)  2  1  4  3  
 kj;jpa ml;yhz;bf; njhlh; 

  
  thpir I    thpir II – njhlhpd; ngah; 
 a.  a     1. NryQ;rh; njhlh; 
 b.  b     2. hpNah fpuhz;l; njhlh; 
 c.  c     3. thy;tp]; njhlh; 
 d. d     4. lhy;gpd; cah;T 
  (a) (b) (c) (d) 
 (A)  1  2  3  4 
 (B)  3  2  1   4 
 (C)  4  1  2  3  
 (D)  2  1  4  3 
 
18. Which is wrongly matched? 

a) Universal Declaration of Human Rights  (1) 1948 
b) European social Charter     (2) 1961  
c) American Declaration of Rights and  
     Duties of Man       (3) 1958 
d) International Covenant Civil and 
      Political Rights (ICCPR)     (4) 1966 

 (A) (a)     (B) (b) 
 (C) (c)     (D) (d) 



 

 

  jtwhd nghUj;jj;ij fz;Lgpbf;fTk; 
 a. rh;tNjr kdpj chpikfs; gpufldk;   1. 1948 
 b. INuhg;gpa r%f rhrdk;     2. 1961 
 c. mnkhpf;f kdpj chpikfs; kw;Wk; flikfspd; 3. 1958 

 gpufldk;     
d. rh;tNjr rptpy; kw;Wk; murpay; chpikfspd; 4. 1966 
 cld;gbf;if (ICCPR) 
(A) (a)     (B) (b) 

 (C) (c)     (D) (d) 
 

19. Consider the following statements: 
Assertion (A) : The JVP committee was set up to re-examine the issue   
                            of linguistic re-organisation of Indian states.  
Reason (R)      : The committee members were Jawharlal Nehru, Vallabi      
                            Patel and Pattabhi Sitaramayya. 
Select your answer according to the coding scheme below: 
(A) Both (A) and (B) are false 
(B) Both (A) and (B) are true but (R) is not the explanation for (A) 
(C) Both (A) and (B) are ture and (R) is the correct explanation for (A) 
(D) (A) is true but (R) is false. 
fPo;f;fz;l thf;fpaq;fis ftdp 
$w;W (A): JVP FO ,e;jpahtpd; nkhopthhp khepyq;fs; mikg;gJ gw;wp  

kWghprPyid nra;a mikf;fg;gl;lJ 
fhuzk; (R): ,e;j FOtpd; cWg;gpdh;fs; [tfh;yhy; NeU ty;ygha; gl;Nly;  

kw;Wk; gl;lhgp rPjhuhka;ah Mthh; 
A. A kw;Wk; R ,uz;Lk; jtW 
B. A kw;Wk; R rhp> Mdhy; R vd;gJ A tpd; rhpahd fhuzk; my;y 
C. A kw;Wk; R rhp R vd;gJ A tpd; rhpahd fhuzk; jhd; 
D. A rhp Mdhy; R jtW 

 
20. N.M.R. Subbaraman, the freedom fighter, was called as 

(A) Thennattu Thilakar   (B) Madurai Gandhi 
(C) Muthamizh Kavalar  (D) King Maker  
tpLjiyg; Nghuhl;l tPuh; vd;.vk;.Mh;. Rg;ghuhkd; ______ vd;W miof;fg;gl;lhh; 
A. njd;dhl;Lj;jpyfh;   B. kJiu fhe;jp 
C. Kj;jkpo; fhtyh;   D. murpay; jiyth;fis cUthf;Fgth; 
 

21. If the radius of circle is increased by 25% then its area is increased by 
A) 50% B) 25%  C) 56.25%  D) 46.25%  
xU tl;lj;jpd; Muk; 25% mjpfhpf;fg;gl;lhy; gug;G mjpfhpf;Fk; rjtPjk; 
A) 50% B) 25%  C) 56.25%  D) 46.25%  
 



 

 

22.  In a mixture of 28 litres, the ratio of milk and water is 5:2  if 2 litres of water is 
added to the mixture, find the ratio of milk and water in the new mixture 
A) 2:1  B) 1:2   C) 2:3   D) 1:3  
28 yp fyitapy; ghYk;> ePUk; 5:2 vd;w tpfpjj;jpy; cs;sJ. mf;fyitAld; 
2 yp ePh; Nrh;j;jhy; ghy; kw;Wk; ePhpd; Gjpa tpfpjk; 
A) 2:1  B) 1:2   C) 2:3   D) 1:3  

 
23. A,B, and C together can finish a piece of work in 4 days.  A alone can do in 12 

days and B alone in 18 days. How many Days will be taken by C to do it 
alone? 
A) 10 days  B)  12 days  C)  9 days  D) 18 days  
A, B, C %tUk; Nrh;e;J xU Ntiyia 4 ehl;fspy; Kbg;gh;. A jdpNa 12 
ehl;fspYk; B jdpNa 18 ehl;fspYk; mt;Ntiyia Kbj;jhy; C jdpNa 
mt;Ntiyia vt;tsT ehl;fspy; Kbg;ghh;? 
A. 10 ehl;fs; B. 12 ehl;fs; C. 9 ehl;fs; D. 18 ehl;fs; 
 

24. The Green House Rural Housing Scheme of Tamil Nadu is powered by 
A) Wind Energy 
B)  Solar Energy 
C) Hydro Thermal Energy 
D) Nuclear Energy 
jkpo;ehl;bd; gRikaf fpuhkg;Gw tPl;L trjpj;jpl;lj;ij kpd;jpwd; ,e;j 
Mw;wypypUe;J ngwg;gLfpwJ? 
A. fhw;W Mw;wy;   B. #hpa Mw;wy; 
C. ePh; ntg;g Mw;wy;  D. mZf;fU Mw;wy; 
  

25. What is “GHOGM”? 
A) Chennai Hotels Grand Membership 
B) Common Wealth Heads of Government Meeting 
C) Central Head of Green Management 
D) Common Heads of Government Meeting 
CHOGM vd;why; vd;d? 
A. nrd;id N`hly;]; fpuhz;l; nkk;gh;~pg; 
B. fhkd; nty;j; n`l;]; Mg; ftd;nkd;l; kPbq; 
C. nrd;l;uy; n`l; Mg; fphPd; NkNd[;nkz;l; 
D. fhkd; n`l;]; Mg; ftd;nkd;l; kPbq; 

 
26.  Consider the following statements and select your answer 

Assertion (A)  : Electron microscopes can give better resolution than optical 
microscopes 

Reason (R)       : A high energy particle has a short de Broglie wavelength 
and so can probe the small scale interior structure of other 
particles 



 

 

 
A) Both (A) and (R) are true and (R) is the correct explanation for (A) 
B)  Both (A) and (R) are true and (R) is not the correct explanation  
      for (A) 
C) Both (A) and (B) are false 
D) (A) is true but (R) is false. 
fPo;f;fz;l $w;Wfis ftdpj;J rhpahd tpiliaj; Njh;e;njLf;f 
JzpTiu (A): xspapay; Ez;Nzhf;fpfisf; fhl;bYk; vyf;buhd; 

Ez;Nzhf;fpfs; Nkd;ikahd gFjpwidj; juty;yd 
fhuzk; (R): cah; Mw;wy; nfhz;l Jfs;> rpwpa B-gpuhf;yp miyePsj;jpidg; 

ngWk; mjdhy; kw;w Jfs;fsJ rpwpa mstPL cs;fl;likg;gpid 
Ma;T nra;a ty;yJ 

A. A kw;Wk; R rhp R vd;gJ A tpd; rhpahd fhuzk; jhd; 
B. A kw;Wk; R rhp> Mdhy; R vd;gJ A tpd; rhpahd fhuzk; my;y 
C. A kw;Wk; R ,uz;Lk; jtW  
D. A rhp Mdhy; R jtW 

 
27. Match List I with List II and select the correct answer using the codes given 

below the lists 
List I     List II 

         River     Empties into 
a) Hwang-Ho   1)   Beaufort sea 
b) Niger    2)   Yellow sea 
c) Volgs    3)   Gulf of Guinea 
d) Mackenzie   4)  Caspian sea  

(a) (b) (c) (d) 
 (A) 2  1  3   4 
 (B) 2   3  4   1 
 (C) 1  3  2   4 
 (D)   4  2  1    3 
 nghUj;Jf 
 ejp     fyf;Fk; fly; 
 a. `thq;Nfh   1. gpANghh;l; fly; 
 b. ie[h;    2. kQ;rs; fly; 
 c. Nthy;fh    3. fpdp tisFlh 
 d. nkf;fd;[p   4. fh];gpad; fly; 

(a) (b) (c) (d) 
 (A) 2  1  3   4 
 (B) 2   3  4   1 
 (C) 1  3  2   4 
 (D)   4  2  1    3 
 



 

 

28. Match the following Temple with place and choose the correct answer from 
the codes given below: 
List I       List II 
a) Monolithic Rathas           1. Tiruttani 
b)       Kailasanatha Temple           2. Gudimallam 
c)       Virattanesware Temple               3. Kanchipuram 
d)  Parasuramesvarar Temple         4. Mamallapuram 

 Codes: 
  (a) (b) (c) (d) 

(A) 4  3  1  2 
(B) 3  4  1        2 
(C) 1  3  2  4 
(D) 4  2  1  3  

 nfhLf;fg;gl;Ls;s Nfhtpy; kw;Wk; ,lj;ijg; nghUj;jp fPo;f;Fwpg;gpl;Ls;s 
FwpaPLfspypUe;J rhpahd tpiliaj; Njh;e;njL 

 a. xw;iwf;fy; ujk;   1. jpUj;jzp 
 b. ifyhrehjh; Nfhtpy;  2. Fbky;yk; 
 c. tPul;lhNdRtuh; Nfhtpy;  3. fhQ;rpGuk; 
 d. guRuhNk];tuh; Nfhtpy;  4. khky;yGuk; 
  (a) (b) (c) (d) 

(A) 4  3  1  2 
(B) 3  4  1        2 
(C) 1  3  2  4 
(D) 4  2  1  3  

  
29. Assertion (A): Delhi has not been accorded the status of a full state 

Reason (R) :  Being capital of India, it occupies a special statue 
(A) Both (A) and (R) are true and (R) is correct explanation of (A) 
(B) Both (A) and (R) are true and (R) is not correct explanation of (A) 
(C) (A) is true but (R) is wrong 
(D) (A) is wrong but (R) is true. 
$w;W (A): by;ypf;F KOikahd khepyj;jpw;Fhpa me;j];J toq;fg;gltpy;iy 
fhuzk; (R): ,e;jpahtpd; jiyefukhf by;yp tpsq;Ftjhy; mJ rpwg;G 

me;j];jpid ngw;Ws;sJ 
A. A kw;Wk; R rhp R vd;gJ A tpd; rhpahd tpsf;fk; 
B. A kw;Wk; R rhp> Mdhy; R vd;gJ A tpd; rhpahd tpsf;fk; my;y 
C. A rhp Mdhy; R jtW 
D. A jtW Mdhy; R rhp 
 

30. According to UNDP’s “Human Development Report” (HDR) – 2000 released 
on June 29th 2000, India has been ranked ________ among 174 countries in the 
Human Development index 
A) 115th  B) 129th  C) 126th  D) 130th 



 

 

[_d; 29> 2000y; UNDP ntspapl;l kdpj Nkk;ghl;L mwpf;ifapd;gb 174 
ehLfspd; kdpj Kd;Ndw;w FwpaPl;bd;gb ,e;jpahtpy; juthpir _____ Mf 
cs;sJ 
A. 115  B. 129  C. 128  D. 130 

  
31. The aim of Rajiv Awas Yojan (RAY) is to make the country 

A) Canale free B) Slum free C) Mosquito free  D) None of these 
uh[{t; mth]; Nah[dhtpd; (RAY) gpujhd Fwpf;NfhshdJ ekJ ehl;bid 
,jd;gb nfhz;L tUtjhFk; 
A. fhy;tha;fs; ,y;yhik   B. Nrhpfs; ,y;yhik 
C. nfhRf;fsplk; ,Ue;J tpLjiy  D. Nkw;$wpa vJTk; ,y;yhik 
 

32. Find the value of 58 31 21 11 25+ + + +  

A) 7  B) 8   C) 9  D) 6  

kjpg;Gf;fhz;: 58 31 21 11 25+ + + +  

A) 7  B) 8   C) 9  D) 6  
 

33. 5% income of X is equal to 15% income of Y is equal to 20% income of Z.  If 
income of Z is Rs.3,000 then total income of X,Y and Z in Rupees is 
A) 18,000  B) 12,000  C) 27,000   D) 16,000 
X-d; tUkhdj;jpy; 5% MdJ Y-d; tUkhdj;jpy; 15% f;F rkk;> 10% Y-d; 
tUkhdk; 20% Z-d; tUkhdj;jpw;Fr; rkk;. ,q;F Z-d; tUkhdk; &.3>000 
vdpy;> X, Y kw;Wk; Z-d; nkhj;j tUkhdk; 
A) 18,000  B) 12,000  C) 27,000   D) 16,000 
 

34. Author of “Phantoma in the Brain” is 
A) Ruskin Bond     B) Vikram Seth 
C) V.S. Subramanian Ramachandran D) Anitha Desai  
“/ghd;lk; ,d; jp g;nuapd;” vd;w ehtypd; Mrphpah; 
A. u];fpd; ghd;l;     B. tpf;uk; Nrj; 
C. V.S. Rg;ukzpad; uhkr;re;jpud;  D. mdpjh Njrha; 
 

35. The chronological order of the following Chief Justice of India is 
1. Yogesh Kumar Sabharwal  2. Sarosh Homi Kapadia 
3. K.G. Balakrishnan   4. Altamas Kabir 
A) 1,2,3,4     B) 1,3,2,4 

C) 1,2,4,3     D) 2,4,3,1  
,e;jpahtpd; jiyik ePjpgjpfis thpirg;gLj;Jf 
1. NahNf~; Fkhh; rgh;thy;  2. rNuh~; N`hkp fhghbah 
3. Nf.[P. ghyfpU~;zd;   4. my;lhk]; fgPh; 
A) 1,2,3,4     B) 1,3,2,4 



 

 

C) 1,2,4,3     D) 2,4,3,1  
 
 

36. Which one of the following places is not affected by the floods of Uttar Khand 
in 2013 
A) Badrinath    B) Kedarnath 
C) Hanumangarh        D) Uttarkashi 
cj;ufhz;l; khepy nts;sg;ngUf;fpy; (2013y;) ghjpf;fg;glhj gFjp vJ? 
A. gj;hpehj;     B. Nfjh;ehj; 
C. `Dkd;fh;    D. cj;jh;fhrp 
 

37. Who is the chairman of the 14th Finance Commission? 
A) Montek Sing Ahluwalia  B) C. Rangarajan 
C) Y.V Reddy    D) Vijay Kelkar 
14tJ epjpf;FOtpd; jiyth; ahh;? 
A. Nkhz;Nlf;rpq; mFYthypah B. rp. uq;fuh[d; 
C. xa;.tp. nul;b    D. tp[a; nfy;f;fh; 
  

38. Which one of the following is not the key recommendation put forward by the 
Justice Verma Committee, 3rd February, 2013? 
A) Gender Sensitisation through Education 
B) End of Human Trafficking 
C) Review security laws in conflict zones 
D) Recommendation of death penalty in the rarest-of-rare cases 
2013Mk; Mz;L gpg;uthp 3> ePjpgjp th;kh FOtpduhy; Kd;itf;fg;gl;l Kf;fpa 
ghpe;Jiufspy; gpd;tUtdtw;Ws; vJ ,lk; ngwtpy;iy? 
A. fy;tp %yk; ghypd $h; czh;r;rpg;ghL 
B. kdpj ,op njhlh;G nfhs;sYf;fhd KbT 
C. rr;ruTf;Fs;shd kz;lyq;fspy;> ghJfhg;G tpjpfspd; kW ghprPyid 
D. mhpjpYk; mhpjhd Njh;Tfspy;> kuz jz;lidf;fhd ghpe;Jiu 

 
39.  Match the type of respiration in insects in column I with column II and 

Choose the correct answer: 
         Column I    Column II 
a) Holopneustic  1. Spiracles are replaced by gills 
b) Metapneustic  2. Only the prothoracic spiracles are open 
c) Propnuestic  3. All the spiracles are open 
d) Branchipneustic 4. Prothoracic and posterior abdominal spiracles are  
      open 
e) Amphipneustic 5. Only last pair of spiracles are open 

a b c d e 
A. 2 1 4 3 5  
B. 3 5 2  1 4 



 

 

C. 5 1 2 4 3 
D.   4 2 5 3 1 
nghUj;Jf 
a. N`hNyhg;epa+];bf;  1. Rthr Jthuk; gjpyhf nrTs;fs; fhzg;gLjy; 
b. nkl;lhg;epa+];bf;  2. Kd;khh;G Rthrj; Jthuk; kl;Lk; jpwe;j  

epiyapy; cs;sJ 
c. GNuhg;epa+];bf;   3. midj;j Rthrj; JthuKk; jpwe;j epiyapy;  

cs;sJ 
d. M/k;gpepa+];bf; 4. ,Wjp ,iz Rthrj;Jthuk; kl;LNk jpwe;j 

epiyapy; cs;sJ 
 

a b c d e 
A. 2 1 4 3 5  
B. 3 5 2  1 4 
C. 5 1 2 4 3 
D.   4 2 5 3 1 
 

40.  The best source of vitamin D is 
A. Margarine   B. Rice 
C. Wheat    D. Sugarcane 
itl;lkpd; D Kf;fpakhf vjpypUe;J ngwg;gLfpwJ? 
A. khh;fiud;  B. mhprp  C. NfhJik D. fUk;G 

 
41. Which among the following is correctly matched? 

A) Rajith Singh  - Battle of Plassey 
B) Tipu Sultan  - Treaty of Amritsar 
C) Hector Munro - Battle of Buxar 
D) Watson   -  Treaty of Sriranga Patnam  
fPo;f;fz;ltw;Ws; vJ rhpahf nghUe;jpAs;sJ? 
A. ,uQ;rpj;rpq;  - gpshrpg;Nghh; 
B. jpg;G Ry;jhd;  - mkph;jru]; cld;gbf;if 
C. n`f;lh; kd;Nwh - gf;rhh; Nghh; 
D. thl;rd;   - =uq;fgl;bdk; cld;gbf;if 
 

42. Match the following Match list I with List II and choose the correct answer 
from the codes given below: 

List I     List II 
 a) Atmiya Sabha    1. M.G. Ranade 
 b) Prarthana Sabha   2. Raja Ram Mohan Roy 
 c) Arya Samaj    3. Dayanand Saraswathi 
 d) Deccan Education society    4. Atmaram Pandurang 
 codes: 

a b c d  



 

 

A. 2 4 3  1 
B. 1 3  2  4 
C. 4  2 2  1 
D. 3 2 1  4   
nghUj;Jf 
a. Mj;jpa rig    1. M.G. uhdNl 
b. gpuhh;jd rig    2. uh[huhk; Nkhfd;uha; 
c. Mh;a rkh[k;    3. jahde;j ru];tjp 
d. jf;fhz fy;tpf;FO   4. Mj;khuhk; ghz;Luq;fh 

a b c d  
A. 2 4 3  1 
B. 1 3  2  4 
C. 4  2 2  1 
D. 3 2 1  4   
 

43.  Which commission recommended 27% reservation for backward 
communities? 
A) Sarkaria Commission  B) Mandal Commission 
C) Kalelkar commission  D) Shah Commission  
gpd;gLj;jg;gl;l tFg;gpdUf;F 27% ,l xJf;fPl;il mspf;f ghpe;Jiu toq;fpa 
Mizak; vJ? 

 A. rh;fhhpah Mizak;   B. kz;ly; Mizak; 
 C. fNyy;fh; Mizak;   D. ~h Mizak; 
 

44. Which schedule of the Indian Constitution specifies the powers, authority and 
responsibility of panchayats? 
A) Seventh schedule  B) Ninth Schedule 
C) Eleventh schedule  D) Twelfth schedule 
,e;jpa murpayikg;gpd; ve;j ml;ltizapy; gQ;rhaj;J Kiwapd; Mw;wy;> 
mjpfhuk; kw;Wk; nghWg;Gfis Fwpg;gplg;gl;Ls;sd? 
A. VohtJ ml;ltiz   B. xd;gjhtJ ml;ltiz 
C. gjpndhd;whtJ ml;ltiz D. gdpnuz;lhtJ ml;ltiz 

 
45. Till which Five Year Plan, employment Strategy had been growth linked? 

A. Fifth Five Year Plan  B. Sixth Five Year Plan 
C. Seventh Five Year Plan  C. Eighth Five Year Plan  
ve;j Ie;jhz;L jpl;lk; tiu Ntiy tha;g;G nray; jpl;lk; tsh;r;rpAld; 
njhlh;G nfhz;lJ? 
A. Ie;jhtJ Ie;jhz;L jpl;lk; B. MwhtJ Ie;jhz;L jpl;lk; 
C. VohtJ Ie;jhz;L jpl;lk;  D. vl;lhtJ Ie;jhz;L jpl;lk; 
 

46.  From the following graph, find the percentage of increase in the profit from 
2004 to 2005 



 

 

 

A) 20%  B) 50%  C) 
2

66 %
3

  D) 71 2/3% 

  
 
 
  
  

fPo;f;fz;l tiuglj;jpypUe;J 2004k; Mz;bypUe;J 2005k; Mz;bw;F fpilj;j 
,yhgj;jpd; cah;tpid rjtPjj;jpy; fhz;f 

A) 20%  B) 50%  C) 
2

66 %
3

  D) 71 2/3% 

 
47. One litre of water is added to 5 litres of a 20% solution of alcohol in water.  

The strength of alcohol in the new solution is 

A) 
2

16 %
3

  B) 15%  C) 20%  D) 16% 

My;f`hy; 20% cs;s 5 ypl;lh; jput fyitNahL 1 ypl;lh; jz;zPh; 
Nrh;f;fg;gLfpwJ. Gjpa fyitapy; My;f`hy; vj;jid rjtPjk; cs;sJ? 

A) 
2

16 %
3

  B) 15%  C) 20%  D) 16% 

 
48. If the cost of 12 articles is equal to the selling price of 10 articles, the profit 

percent in the transaction is 
A) 18%     B) 16 2/3% 
C) 20%     C) 25%  
12 nghUs;fspd; thq;fpa tpiyf;F 10 nghUs;fspd; tpw;w tpiyf;F rkk; 
vdpy; ,e;j tpahghuj;jpy; fpilf;Fk; yhgk; rjtPjk;? 

A) 18%     B) 
2

16 %
3

 

C) 20%     C) 25%  
 

49. The difference between the present ages of p and q is 8 yrs and the ratio of 
their present ages in 2:3 respectively.  What is P’s present age? 
A) 16 yrs     B) 24 yrs 
C) 12 yrs     D) 30 Yrs  



 

 

P kw;Wk; Q-d; jw;Nghija taJfspd; tpfpjk; 2 : 3. NkYk; mth;fs; 
taJfspd; tpj;jpahrk; 8 Mz;Lfs; vdpy; P-d; jw;Nghija taJ _____ 
Mz;Lfs; 
A. 16   B. 24  C. 12  D. 30 
 

50. Which disease is caused by deficiency of proteins to children? 
A) Marasmus    B) Pellagra 
C) Beri-beri     D) Rickets  
Foe;ijfSf;F ve;j Neha; Gujq;fspd; Fiwghl;lhy; Vw;gLfpwJ? 
A. kuh];k];  B. ngyhf;uh C. nghp-nghp  D. hpf;fl;]; 
 

51. Which Indian social activist is best known for her role in Narmada Bachan 
Andolan? 
A. Menaka Gandhi   B. Shanta Sinha 
C. Kiran Bedi     D. Medha Patkar  
eh;kjh gr;rht; me;Njhyd; vd;w mikg;gpd; %yk; mwpag;gLk; ,e;jpa r%f 
Mh;tyh; 
A. Nkdfhfhe;jp    B. rhe;jh rpd;`h 
C. fpud; Ngb    D. Nkjh gl;fh; 
 

52. Who is the first recipient of Rajiv Gandhi Khel Ratna award? 
A) Sachin Tendulkar   B) Viswanathan Anand 
C) Geet Sethi    D) Dhanraj Pillay  
uh[{t; fhe;jp Nfy; uj;dh tpUij thq;fpa Kjy; ,e;jpa tpisahl;L tPuh; 
A. rr;rpd; nlz;Ly;fh;   B. tp];tehjd; Mde;j; 
C. fPj; Nrj;jp    D. jd;uh[; gps;is 
 

53. The oxidation states of nitrogen in the following equation are 

3 2 4 24[ ] 2 2 3

( ) ( ) ( )

NH OH N O NH H H O

X Y Z

+ + +→ + + +
 

 X Y Z 
A) +2 0 -3 
B) -1 1 -2 
C) -1 -2 -3 
D) -1 1 -3 
gpd;tUk; rkd;ghl;bd; iel;u[dpd; Mf;rp[Ndw;w epiyfs; 

3 2 4 24[ ] 2 2 3

( ) ( ) ( )

NH OH N O NH H H O

X Y Z

+ + +→ + + +
 

 X Y Z 
A) +2 0 -3 
B) -1 1 -2 
C) -1 -2 -3 
D) -1 1 -3 



 

 

 
54. During the oxidation acidified ferrous ammonium sulphate with dichromate 

solution 
A) The oxidation number of chromium and iron changes from +6 to +3 and 

+3 to +2 respectively 
B) The oxidation number of chromium and iron changes from +3 to +6 and 

+3 to +2 respectively 
C) The oxidation number of chromium and iron changes from+6 to                       

+3 And +2 to +3 respectively 
D) The oxidation number of chromium and iron changes from +2 to +3 and  

+ 6 to +3 respectively 
mkpyk; fye;j ngh;]; mNkhdpak; ry;Ngl; ilFNuhNkl; fiurypy; Mf;]prd; 
Vw;wk; milAk; nghOJ 
A. Mf;]p[d; Vw;w vz; FNuhkpaj;jpw;F  +6 ypUe;J  +3 MfTk;> ,Uk;gpw;F 

+3 ypUe;J +1 MfTk; khWfpwJ 
B. Mf;]p[d; Vw;w vz; FNuhkpaj;jpw;F +3 ypUe;J +6 MfTk;> ,Uk;gpw;F +3 

ypUe;J +2 MfTk; khWfpwJ 
C. Mf;]p[d; Vw;w vz; FNuhkpaj;jpw;F +6 ypUe;J +3 MfTk;> ,Uk;gpw;F +2 

ypUe;J +3 MfTk; khWfpwJ 
D. Mf;]p[d; Vw;w vz; FNuhkpaj;jpw;F +2 ypUe;J +3 MfTk;> ,Uk;gpw;F +6 

ypUe;J +3 MfTk; khWfpwJ 
 

55. Consider the following statements: 
Assertion (A) :  Copper is mainly used in Electrical Engineering Industry 
Reason (R)     :   Copper has the property of high conductivity 
A) Both (A) and (R) are true and (R) explains (A) correctly. 
B) Both (A) and (R) are true but (R) does not explain (A) 
C) (A) is true but (R) is false. 
D) (A) is false but (R) is true. 
fPo;f;fhZk; thf;fpaq;fis ftdp: 
$w;W (A): nrk;G Kf;fpakhf kpd; njhopy;El;g Miyfspy; 
gad;gLj;jg;gLfpwJ 
fhuzk; (R): nrk;G ntg;gj;jpid mjpfkhf flj;Jk; Fzk; nfhz;lJ 
A. A kw;Wk; R rhp R vd;gJ A tpd; rhpahd fhuzk; jhd; 
B. A kw;Wk; R rhp> Mdhy; R vd;gJ A tpd; rhpahd fhuzk; my;y 
C. A kw;Wk; R ,uz;Lk; jtW 
D. A rhp Mdhy; R jtW 

 
56. Arrange the following plants species in descending order based on their 

altitude. 
A) Junipers - Deodar – Maple - Teak 
B) Deodar – Junipers – Maple – Teak 
C) Junipers – Teak – Deodar – Maple 



 

 

D) Deodar – Junipers – Teak – Maple 
gpd;tUk; jhtu tiffis mit tsUk; ,lq;fspd; cauj;ijf; nfhz;L 
,wq;F thpirapy; mLf;Ff 
A. [{idg;gh;fs; - jpNahlh; - Nkgpy; - Njf;F 
B. jpNahlh; - [{idg;gh;fs; - Nkgpy; - Njf;F 
C. [{idg;gh;fs; - Njf;F – jpNahlh; - Nkgpy; 
D. jpNahlh; - [{idg;gh;fs; - Njf;F – Nkgpy; 

 
57.  Assertion (A) : Fundamental Duties do not have any legal sanction 

Reason (R)      : The Fundamental duties cannot be enforced by courts 
A) Both (A) and (R) are true (R) explains (A) 
B)  Both (A) and (R) are true (R) does not explain (A) 
C) (A) is true but (R) is false  
D) (A) is false but (R) is true 
$w;W (A): mbg;gil flikfSf;F rl;lg;g+h;tkhd mq;fPfhuk; fpilahJ 
fhuzk; (R): ePjpkd;wq;fs; mbg;gil flikfs; nray;gLj;jg;gLkhW 
eph;ge;jpf;ftpayhJ 
A. A kw;Wk; R rhp R vd;gJ A tpd; rhpahd fhuzk; jhd; 
B. A kw;Wk; R rhp> Mdhy; R vd;gJ A tpd; rhpahd fhuzk; my;y 
C. A rhp Mdhy; R jtW 
D. A jtW Mdhy; R rhp 
 

58.  Consider the following statements: 
(a) The 73rd Constitutional Amendment Act inserts certain provisions 
       Into part IX of the Constitution 
(b) It empowers the State Legislature to make laws for the  
      Organisation of Panchayats at Village level as well as the higher  
      Levels of a district. 
Choose the correct answer from the options give below: 
A) Both (a) and (b) are true   B) (a) is true and (b) is false 
C) Only (a) is true    D) Only (b) is true 
fPo;f;fz;l thf;fpaq;fis ftdpf;fTk; 
a. 73tJ murpayikg;G rl;lj;jpUj;jk; ,e;jpa murpay; rhrdj;jpd; gFjp IXy; 

rpy mk;rq;fis Nrh;j;jJ 
b. ,jd; %yk; khepy muRf;F fpuhkepiyapy; gQ;rhaj;J epWtdq;fisAk;> 

khtl;lq;fspy; cah;epiy gQ;rhaj;J mikf;fTk; mjpfhuk; toq;fg;gl;lJ 
A. (a) kw;Wk; (b) ,uz;Lk; rhp  B. (a) rhp Mdhy; (b) jtW 
C. (a) kl;Lk; rhpahdJ    D. (b) kl;Lk; rhpahdJ 

 
59. The first Individual Satyagrahi was 

A) Gandhiji     B) Vinoba Bhave 

C) Rajaji      D) M.A. Jinnah  
Kjy; jdpegh; rj;jpahf;fpufp vd;w ngUikf;Fhpath; 
A. fhe;jp[p  B. tpNdhghghNt  C. uh[h[p   D. KfkJ myp [pd;dh 



 

 

  
60. Which among the following congress session was presided over by Irish 

member Alfred-Web? 
A) First Session 1885   B) Fourth Session 1888 
C) Seventh Session 1891  D) Tenth Session 1894   
fPo;f;fz;ltw;Ws; ve;j ,e;jpa Njrpa fhq;fpu]; khehL IhP~; cWg;gpdh;> 
My;gpnul; ntg; jiyikapy; eilngw;wJ? 
A. Kjyhk; khehL 1885  B. ehd;fhk; khehL 1888 
C. Vohk; khehL 1891   D. gj;jhk; khehL 1894 
 

61. The first editor of the paper “ Bande Matram” was 
A) Bankim Chandra Chatterjee  B) Shri Aurobindo Ghose 
C) Rabindranath Tagore   C) Dr. Annie Besant  
“te;Nj khjuk;” vd;w ,jopd; Kjy; gjpg;ghrphpah; _____ Mthh; 
A. gf;fpk; re;jpu rl;lh;[p   B. =mutpe;j Nfh~; 
C. utPe;jpuehj; jh$h;    D. lhf;lh; md;dpngrd;l; 
 

62. Divide Rs 680 among A,B,C so that A gets 3 times more than B and B gets 4 
times to C 
A) Rs. 160, Rs. 40, Rs.480  B) Rs. 480, Rs. 160 Rs. 40 
C) Rs. 480, Rs. 40 Rs.160  D) Rs. 160, Rs. 480 Rs. 40 
A-f;F B Ig; Nghy; 3 klq;Fk;> B-f;F C-Ig; Nghy; 4 klq;Fk; fpilf;Fk;gb 
&.680-I gphpj;jhy;> mth;fs; ngWk; njhif KiwNa 
A) Rs. 160, Rs. 40, Rs.480  B) Rs. 480, Rs. 160 Rs. 40 
C) Rs. 480, Rs. 40 Rs.160  D) Rs. 160, Rs. 480 Rs. 40 
 
 

63. The length, breath and height of a room are respectively 12 metres and 6 
metres. How many cubic boxes are needed to fill the room if the side of each 
box is 1.5 metres? 
A. 1072  B. 648 C. 324  D. 192 
xU miwapd; ePsk;> mfyk; kw;Wk; cauk; KiwNa 12 kPl;lh;> 9 kPl;lh; kw;Wk; 
6 kPl;lh;. 1.5 kPl;lh; ePsk; nfhz;l vj;jid fdr;rJug; ngl;bfshy; ,e;j 
miwia KOikahf epug;gyhk;? 
A. 1072  B. 648 C. 324  D. 192 

 
64. Sugathakumari was selected for Saraswathi Samman, 2012 to march 2013.  She 

belongs to  
A) Tamil Nadu  B) Andhra Pradesh 
C) Kerala   D) Karnataka 
RfjhFkhhp vd;gth; 2012Mk; Mz;bw;fhd ru];tjp rk;khd; tpUJ ngw khh;r; 
2013 jpq;fs; Njh;T nra;ag;gl;lhh;. ,th; ve;j khepyj;ijr; Nrh;e;jth;? 
A. jkpo;ehL  B. Me;jpug;gpuNjrk; 
C. Nfush   D. fh;ehlfk; 



 

 

 
65. choose the incorrect pair regarding the summits held in 2013 

(A) ASEAN     Phnom Penh 
(B) G20      Petersburg 
(C) G8     Northern Ireland 
(D) East –Asian Summit   Brazil 
fPo;f;fz;l midj;J ,izfSk; 2013 cr;rpkhehL rhh;e;jit. ,jpy; vJ 
jtwhd ,iz 
A. Mrpahd;    Nehk; ngd; 
B. [P20     gPl;lh;];ngh;f; 
C. [P8      tlf;F mah;yhe;J 
D. fpof;F Mrpa cr;rpkhehL  gpNurpy; 
 

66. The graph showing the velocity ‘u’ J of a steel ball dropped in a tall jar 
containing glycerine varying with time ‘t’ is 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

Neuk; ‘t’ Ig; nghUj;J> fpsprhPd; nfhz;l neba [hb xd;wpy; Nghlg;gl;l v/F 
ge;J xd;wpd; jpirNtf ‘v’ NtWghl;bidf; fhl;Lk; tiuglk; 
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67. The Measurement standards Laboratory of India is 

A) Indian Institute of Science 
B) National Aero Space Laboratories 
C) National Physical Laboratory 
D) National Metallurgical Laboratory 
,e;jpahtpd; mstPl;L gbj;ju Ma;tfk; vd;gJ 
A. ,e;jpad; mwptpay; epWtdk;  
B. Njrpa thd;ntspapay; Ma;tfq;fs; 
C. Njrpa ,aw;nghUs; Ma;tfk; 
D. Njrpa cNyhf njhopy; Ma;tfk; 
 

68. Match List I with list II and select the correct answer using the codes given 
below the lists: 
List I     List II 
Rock type    Rock class 

     (a)  Rhyolite           1. Calcareous Sedimentary 
(b) Conglomerate  2. Foliated Metamorphic 
(c) Slate            3. Arenaceous Sedimentary 
(d) Dolmite            4. Extrusive Igneous 

a b c d 
 A. 4 3 1 2 
 B. 1 2 4 3 
 C. 4 3 2 1 
 D. 3 2 1 4 
 nghUj;Jf 
 ghiw tif    ghiw gphpT 
 a. hpNahiyl;   1. Rz;zhk;G gbTg;ghiw 
 b. fyitf;fy;   2. jfl;L nghiwAs;s cUkhwpa ghiw 
 c. gyiff;fy;   3. kzy; gbTg;ghiw 
 d. lhyikl;   4. js;sw; jPg;ghiw 

a b c d 
 A. 4 3 1 2 
 B. 1 2 4 3 
 C. 4 3 2 1 
 D. 3 2 1 4 
 

69. Match list I with List II correctly and select your answer using the codes given 
below: 

List I       List II 
 (a)  Dutch East India Company   1. 1600 



 

 

 (b)  British East India Company   2. 1664 
 (c)   French East India Company   3. 1510 
 (d)  Portuguese Captured Goa   4. 1602 

 a b c d 
A. 2 1 4 3 
B. 4 1 2 3 
C. 3 4 2 1 
D. 1 3 4 2 
thpir I cld; thpir II idg; nghUj;jp thpirfSf;F fPo; nfhLf;fg;gl;Ls;s 
njhFg;gpypUe;J rhpahd tpilapidj; njhpT nra;f 
thpir I        thpir II 
a. lr;Rf; fpof;fpe;jpa fk;ngdp    1. 1600 
b. Mq;fpy fpof;fpe;jpa fk;ngdp    2. 1664 
c. gpnuQ;R fpof;fpe;jpa fk;ngdp    3. 1510 
d. Nghh;j;Jf;fPrpah;fs; Nfhthitf; ifg;gw;wpdh;  4. 1602 
 a b c d 
A. 2 1 4 3 
B. 4 1 2 3 
C. 3 4 2 1 
D. 1 3 4 2 

 
70. Given below are two statements one labelled as assertion (A) and the other 

labelled as Reason (R) 
Assertion (A): India’s Public Sector helped in the development of a sounds 
industrial base 
Reason (R): Public Sector is under State Information Appropriate Policies and 
providing financial and other support has helped the Public Sector 
(A) (a is correct but (r) is wrong  B) Both (a) and (r) are correct 

(C)  (a)is wrong but (r) is correct  D) Both (a) and (r) are wrong 
fPNo nfhLf;fg;gl;Ls;s ,uz;L thf;fpaq;fspy; (A) JzpGiu kw;nwhd;W (R) 
fhuzj;ijAk; Fwpf;fpwJ 
JzpGiu (A): njhopy;Jiw tsh;r;rpapy; ,e;jpa nghJj;Jiw epWtdj;jpd; 
Nkk;ghL mlq;fpAs;sJ 
fhuzk; (R): nghJj;Jiw epWtdk; khepy murhq;fj;jpy; fl;Lg;ghl;by; 
cs;sJ. khepy murpd; gq;fhdJ nghUj;jkhd jfty;fs;> nfhs;if> epjp 
cjtp mspj;jy; (k) nghJj;Jiw cjtpaspj;jy; 
A. A rhpahdJ Mdhy; R jtW  B. A kw;Wk; R ,uz;Lk; rhpahdJ 
C. A jtwhdJ Mdhy; R rhpahdJ D. A kw;Wk; R ,uz;Lk; jtwhdJ 
 

71. Rate of saving is measured as a proportion of Goss Domestic Product (GDP) 
at 
(A) Constant Prices   (B) Market Prices 
(C) Relative Prices   (D) None of the above 



 

 

Nrkpg;gpd; tsh;r;rp tPjk; cs;ehl;L nkhj;j cw;gj;jpapd; gq;F tPjkhf 
mstplg;gl;Ls;sJ 
A. epiyahd tpiyfspy;  B. re;ij tpiyfspy; 
C. xg;gPl;L tpiyfspy;   D. Nkw;$wpa vJTk; ,y;iy 
 

72. Find the next figure in the given sequence: 
 

 
  
 
 
 
 
 
 nfhLf;fg;gl;l njhlhpy; mLj;JtUk; glj;ij fhz;f 
 

 
  
 
 
 
 
 
 

73. If A’s height is 25% less than that of B, then how much percent is B’s height 
more than that of A? 
A) 50%  B) 45%  C) 22 1/3%  D) 33 1/3% 
A-apd; caukhdJ B-apd; cauj;jpy; 25% Fiwthf cs;sJ vdpy; B-apd; 
cauk; A-apd; cauj;jpy; vt;tsT rjtPjk; mjpfkhf cs;sJ? 
A) 50%  B) 45%  C) 22 1/3%  D) 33 1/3% 
 

74. Five articles A, B, C, D and E are priced differently and the value of C is Rs. 
100.  If “ A is cheaper than C but costlier than B” and “ E is costlier than C but 
cheaper than D” then which of the article is the costliest? 
(A) B   (B) C  (C) D   (D) E 
xd;Wf;nfhd;W rkkpy;yh tpj;jpahrkhd tpiyfis nfhz;l Ie;J nghUs;fs; 
A, B, C, D kw;Wk; E-,y; C-d; tpiy &.100 MFk;. A-d; tpiy C-I tpl 

A     

 

B

 

C

 

D

 

A     

 

B

 

C

 

D

 



 

 

FiwT Mdhy; B-I tpl mjpfk; E-d; tpiy C-I tpl mjpfk; Mdhy; D-I 
tpl FiwT vdpy; ,tw;Ws; kpfTk; mjpf tpiy cs;s nghUs; vJ? 
(A) B   (B) C  (C) D   (D) E 
 

75. Find the next figure in the given sequence: 
 

 
 
 
 
 
 
  
 nfhLf;fg;gl;l njhlhpy; mLj;JtUk; glj;ijf; fhz;f 
 

 
 
 
 
 
 
 

76. The paralympic games involves 
A) Athletes above 50 years of age 
B) Athlete with physical and intellectual disabilities 
C) Athletes under 19 year of age 
D) Athletes who are non – disabled 
ghuhypk;gpf; ve;j tpisahl;L tPuh;fis <LgLj;JfpwJ? 
A. 50 taJf;F Nky; cs;s tPuh;fs; 
B. cly; kw;Wk; mwpTrhh; FiwghLfs; cs;s tpisahl;L tPuh;fs; 
C. 19 tajpw;Fl;gl;l tpisahl;L tPuh;fs; 
D. Cdkpy;yhj tPuh;fs; 

 
77. The launch vehicle which placed the mars orbiter into tits earth orbit on 

November 2013 is 
netk;gh; 2013y; GtpapdJ Rw;W ghijapy;> nrt;tha; Roypia mikj;j VT 
rhjdk; 

A     

 

B

 

C

 

D

 

A     

 

B

 

C

 

D

 



 

 

A) PSLV-C 25 B) PSLV-C20  C) PSLV-C21 D) GSAT-2 
 
 

78. A 3D printer has been introduced in the year 
A) 2000  B)2010 C) 2012  D) 1999 
3D gphpz;lh; mwpKfg;gLj;jg;gl;l Mz;L 
A) 2000  B)2010 C) 2012  D) 1999 
 

79. Arrange the sequence of mitosis in a logic way. 
I.   Centromeres of chromosomes attaches to spindle fibre. 
II.  Chromatids uncoil and cytokinesis occur. 
III.   Asters and spindle fibres are formed. 
IV.  Centromres split into two, daughters centromeres move apart. 
(A) III, I, I, II (B) II,IV,III,I (C) II, III, IV, I (D) III,I, IV, II 
kiwKfg; gFg;gpd; njhlh; epfo;tpid rhpahf mikf;fTk; 
I. FNuhNkhNrhkpd; nrd;l;Nuhkpah;fs; ];gpd;by; ,ioapy; xl;bf;nfhs;Sjy; 
II. FNuhNkhl;bl; RUs; gphpjYk; irl;Nlhifd]p]; eilngWjy; 
III. M];lh;fs; cUthf;fk; kw;Wk; ]gpd;by; ,iyfs; cUthf;fk; 
IV. nrd;l;Nuhkpah;fs; ,uz;lhfg; gphpjy; kw;Wk; Nra; nrd;l;Nuhkpah;fs; 

efUjy; 
(A) III, I, I, II (B) II,IV,III,I (C) II, III, IV, I (D) III,I, IV, II 
 

80.  Inhibition of gastric secretion is brought about by 
(A) Pancreozymin  (B) Gastrin 
(C) Enterogastrone  (D) Cholecytokinin 
,iug;ig Rug;gpfspd; jilfl;Lg;ghLfspd; epfo;T 
A. gd;f;nuhi[kpd;  B. f];l;hpd; 
C. vz;nlNuhf];l;Nuhd;  D. NfhNyirl;Nlhifidd; 

 
81. Which among the following is not correctly matched? 

(A) First World Tamil Conference - Kuolalampur 
(B) Second World Tamil Conference – Chennai 
(C) Third World Tamil Conference – Madurai 
(D) Fourth World Tamil Conference - Srilanka 
fPo;tUtdtw;Ws; vJ rhpahf nghUj;jg;gltpy;iy? 
A. Kjy; cyfj;jkpo; khehL – Nfhyhyk;g+h; 
B. ,uz;lhtJ cyfj; jkpo; khehL –nrd;id 
C. %d;whtJ cyfj; jkpo; khehL – kJiu 
D. ehd;fhtJ cyfj;jkpo; khehL - ,yq;if 

 
82. Match List-1 with List – II and select your answer using the codes given 

below: 
List –I      List -II 



 

 

(a) The Hindu Religious Endowment Act - 1922 
(b) The madras State Aid to Industrial Act - 1929 
(c) The Public Service Commission   - 1926 
(d) Andhra University     - 1921 
 
 
Codes: 
 
 (a) (b) (c) (d) 
(A)  4  2  1  3 
(B)  2   1  4  3 
(C)  3  4  1  2 
(D)  4  1  2  3 
gl;bay; xd;iw> gl;bay; ,uz;Lld; ,izf;fTk;. 
a. ,e;J mwepiyar; rl;lk;    1. 1922 
b. nrd;id khepy njhopy; cjtpr;rl;lk;  2. 1929 
c. muR gzpahsh; Njh;thizak;   3. 1926 
d. Me;jpuh gy;fiyf;fofk;    4. 1921 
 (a) (b) (c) (d) 
(A)  4  2  1  3 
(B)  2   1  4  3 
(C)  3  4  1  2 
(D)  4  1  2  3 
 

83. Which Article deals with administrative Tribunals? 
(A) Article 323   (B)Article 323A 
(C) Article 323B   (D)Article 321 
eph;thf jPh;g;ghaj;ijg; gw;wpa murpayikg;G ~uj;J 
A. ~uj;J 323   B. ~uj;J 323 A 
C. ~uj;J 323 B   D. ~uj;J 321 
 

84.  In which of the following Amendment raised the age of retirement of a High 
Court Judges from 62 to 65 years. 
(A) 104th Amendment  (B) 101st Amendment 
(C) 102nd Amendment  (D) 103rd Amendment 
gpd;tUtdtw;wpy;> cah;ePjpkd;w ePjpgjpfspd; Xa;T ngWk; taJ 62ypUe;J 65 
taJ tiu cah;j;jpa rl;lj;jpUj;jk; vJ? 
 

85. Consider the following statements: 
(a) ‘Operation flood’ was a programme for women empowerment. 
(b) Under this programme rural women involved in dairy Development. 
(A) only is correct  B. (a) and (b) are correct 
C. Only (b) is correct  D. Both (a) and (b) are wrong 



 

 

fPo;f;fz;l thf;fpaq;fis ftdpf;fTk; 
(a) ‘Operation Flood’ vd;gJ ngz;fs; Nkk;ghl;bw;fhd xU jpl;lkhFk; 
(b) ,e;j jpl;lj;jpd; %yk; fpuhkj;J ngz;fs; ghy; nghUs;fs; jahhpg;gpy; 

<Lg;l;ld; 
A. (a) kl;Lk; rhp   B. (a) kw;Wk; (b) rhp 
C. (b) kl;Lk; rhp   D. (a) kw;Wk; (b) jtW 
 
 
 

86. The circle graph given shows the spendings of a family on various items and 
its savings during a year.  If the total income of the family is Rs. 75,000. Then 
the expenditure on Education was 

 

 
 

 A. Rs.7,500  B. Rs.8,000  C. Rs.8,500  D. Rs.9,000 
nfhLf;fg;gl;l tl;l tiuglkhdJ xU FLk;gj;jpd; xU tUl nrytpdk; 
kw;Wk; Nrkpg;igf; fhl;LfpwJ. mf;FLk;gj;jpd; nkhj;j tUkhdk; &.75>000 vdpy; 
fy;tpf;fhf nrytplg;gLk; njhif 

 
 

(A) Rs. 7,500 (B) Rs. 8,000  (C) Rs. 8,500 (D) Rs. 9,000  
 

87. A,B,C start at the same time in the same direction to run around a rectangular 
garden.  A completes a round in 252 seconds, B in 308 seconds and C in 198 



 

 

seconds starting at the same point.  After what time will they meet again at 
the starting point? 
(A) 20 minutes 18 seconds  (B) 40 minutes 20 seconds 
(C) 46 minutes 12 seconds  (D) 30 minutes 
xNu ,lj;jpy; Jtf;fp xNu jpirapy; A, B, C vd;gth;fs; nrt;tf g+q;fhitr; 
Rw;wp XLfpd;wdh;. xU Kiw Rw;wp tu A 252 tpehbfSk; B 308 tpehbfSk;> 
C 198 tpehbfSk; vLj;Jf; nfhs;fpd;wdh;. Xlj; njhlq;fpa gpwF> mNj 
Jtf;fg; Gs;spapy; ,e;j %tUk; vj;jid tpehbfSf;Fg; gpwF re;jpg;ghh;fs;? 
A. 20 epkplk; 18 tpehbfs;  B. 40 epkplk; 20 tpehbfs; 
C. 46 epkplk; 12 tpehbfs;  D. 30 epkplq;fs; 
 

88. Find the greatest number which will divide 2112 and 2792 leaving the 
reminder 4 in each case. 
(A) 63  (B) 64  (C) 68  (D) 78 
ve;j kPg;ngU vz;zhy;> 2112 kw;Wk; 2792 vd;w vz;fis tFf;Fk; NghJ kPjp 
4 fpilf;Fk;? 
(A) 63  (B) 64  (C) 68  (D) 78 
 

89. Match the following: 
(a) Toba    1. Calders 
(b) Mariana   2. Trench 
(c) Mawaynram  3. World Wettest Place 
(d)  Titicaca   4. Deepest Lake 
 (a) (b) (c) (d) 
(A)  1  2  4  3 
(B)  1  2  3  4 
(C)  1  3  2  4 
(D)  2  1  3  4 
nghUj;Jf 
a. Nlhgh   1. vhpkiytha; 
b. khpahdh   2. Mop 
c. kha];duk;  3. cyf mjpf kionghopT 
d. bl;bfhfh  4. Mokhd Vhp 
 (a) (b) (c) (d) 
(A)  1  2  4  3 
(B)  1  2  3  4 
(C)  1  3  2  4 
(D)  2  1  3  4 
 

90. Match the following: 
(a) Moment of linear Momentum  1. Buoyancy 
(b) Ability of free surface of liquid to 
      Minimize is surface are   2. Potential 



 

 

(c) Work done per unit charge  3. Surface tension 
(d) Upward force experienced by a  
       Body when wholly or partially 
       Immersed in a fluid   4. Angular momentum 

a b c d 
A. 4 1 2 3 
B. 4 2 3 1 
C. 4 3 2 1 
D. 4 1 3 2 
nghUj;Jf 
a. Neh; ce;jj;jpd; jpUg;Gj;jpwd;   1. kpjj;jy; tpir 
b. xU jputj;jpd; fl;lw;w gug;G mjd;   2. kpd;dOj;jk; 
   Nkw;gug;ig Fiwj;Jf;nfhs;Sk; jd;ik 
c. XuyF kpd;D}l;lk; nra;Ak; Ntiy  3. gug;G ,Otpir 
d. KOtJkhfNth> gFjpahfNth gha;kj;jpy; 4. Nfhz ce;jk; 
   %o;fpapUf;Fk; xU nghUs; czUk; 
   Nkw;Nehf;F tpir 

a b c d 
A. 4 1 2 3 
B. 4 2 3 1 
C. 4 3 2 1 
D. 4 1 3 2 
 

91. Match the pressure belts with their latitudes: 
(a) Polar high   1. 30˚ to 35˚ North and South 
(b) Sub polar low   2. 30˚ North and South 
(c) Equatorial low  3. 60˚ to 65˚ North and South 
(d) Tropical high   4. 0˚ to 60˚ North and south 
 
 (a) (b) (c) (d) 
(A)  2  3  4  1 
(B)  3  2  1  4  
(C)  1  4  2  3 
(D)  4  1  3  2 
mOj;j gpuNjrq;fis mjd; ml;rq;fSld; nghUj;Jf 
a. cah; JUtk;   1. 30˚ Kjy; 35˚ tlf;F kw;Wk; njw;F 
b. jho; caJUtk;  2. 90˚ tlf;F kw;Wk; njw;F 
c. jho; Gtpapilf;NfhL  3. 60˚ Kjy; 65˚ tlf;F kw;Wk; njw;F 
d. cah; mad kz;lyk; 4. 0˚ Kjy; 5˚ tlf;F kw;Wk; njw;F 
 (a) (b) (c) (d) 
(A)  2  3  4  1 
(B)  3  2  1  4  
(C)  1  4  2  3 



 

 

(D)  4  1  3  2 
 

92. The National Commission for Women as set up in 
(A) 1992   (B) 1993 (C) 1994   (D) 1995 
kfsph; Njrpa Mizak; _____ ,y; mikf;fg;gl;lJ 
(A) 1992   (B) 1993 (C) 1994   (D) 1995 
 

93. Match the feature of the constitution with the country from which they have 
been borrowed: 
Feature       Country 

 (a) Rule of Law      1. Ireland 
 (b) Judicial of Review     2. Australia 
 (c) Idea of concurrent subjects   3. U.S.A 
 (d) Directive Principles of state Policy  4. England 

(a) (b) (c) (d) 
 (A)  4  3  2  1 
 (B)  1  2  3  4  
 (C)  2  3  1  4 
 (D)  4  3  1  2 

fPo;f;fz;l murpay; mikg;gpd; jd;ikfis mit ngwg;gl;l ehLfSld; 
nghUj;Jf 
mk;rk; (jd;ik)      ehL 
a. rl;lj;jpd; Ml;rp     1. mah;yhe;J 
b. ePjpg;Gduha;T      2. M];jpNuypah 
c. nghJg;gl;baypYs;s fUj;JUf;fs;  3. mnkhpf;fh 
d. murpd; newpKiw Nfhl;ghLfs;   4. ,q;fpyhe;J 

(a) (b) (c) (d) 
 (A)  4  3  2  1 
 (B)  1  2  3  4  
 (C)  2  3  1  4 
 (D)  4  3  1  2 

 
94. Which is wrongly matched? 

I. Gopal Nayak  - Dindigul 
II. Raja of pazhasi  - Malabar 
III. Krishnappa Nayak   - Kannada 
IV. Dhoonadji Waug  - Tanjore 
(A) III  (B) I   (C) II   (D) IV 
jtwhd nghUj;jj;ijf; fz;Lgpbf;fTk; 
I. Nfhghy ehaf;fh;  - jpz;Lf;fy; 
II. gorp uh[h   - kyghh; 
III. fpU~;zg;g ehaf;fh; - fd;dl ehL 
IV. J}e;jh[p thf;  - jQ;rht+h; 



 

 

(A) III  (B) I   (C) II   (D) IV 
 

95. ‘The Congress should get entry into the councils not to cooperate with the 
Government but to non- cooperate with it’. This statement was made by 
whom? 
(A) Pandit Motilal Nehru and Desh Bandhu Chittaranjan Das 
(B) M.K. Gandhi and Jawaharlal Nehru 
(C) Lala Lajpat Rai and Gopala Krishna Gokale 
(D) Subramanya Bharathi and V.O. Chidambaranar. 
‘fhq;fpu]; fl;rp muR kd;wq;fspy; EiotJ vd;gJ muRld; xj;Jg; 
Nghtjw;fy;y xj;Jioahikia Kd;dpWj;jNt’ vd;w fUj;jpidf; $wpath;fs; 
vth;? 
A. gz;bj Nkhjpyhy; NeU kw;Wk; Nj~; ge;J rpj;juQ;rd; jh]; 
B. vk;.Nf. fhe;jp kw;Wk; [t`h;yhy; NeU 
C. yhyh y[;gj; uha; kw;Wk; Nfhghy fpU~;z NfhfNy 
D. Rg;ukz;a ghujp kw;Wk; t.c. rpjk;guk; gps;is 

 
96. Rs. 800 amounts to Rs. 920 in 3 years at simple interest. If the interest rate is 

increased by 3%, it would amount to 
(A) Rs. 1,092 (B) Rs.    992 (C) Rs. 1,882 (D) Rs. 1,182 
&.800 MdJ jdptl;b tPjj;jy; 3 Mz;Lfspy; &.920 MfpwJ. mjd; tl;b 
tPjk; 3% mjpfhpf;fg;gLk; NghJ mNj mryhdJ 3 Mz;Lfspy; MFk; njhif 
(A) Rs. 1,092 (B) Rs.    992 (C) Rs. 1,882 (D) Rs. 1,182 
 

97. A table is sold for Rs. 414 at a profit of 15%. How much did it cost? 
(A) Rs. 400  (B) Rs.  992  (C) Rs. 1,882 (D) Rs. 1,182 
&.414f;F tpw;fg;gLk; xU Nkirapd; ,yhgk; 15% vdpy; mjd; thq;fpa tpiy 
vd;d? 
(A) Rs. 400  (B) Rs.  992  (C) Rs. 1,882 (D) Rs. 1,182 
 

98. Match the cultural centres in India with their zonal head quarters: 
Zone     Head quarters 

 (a) Southern zone   1. Patiala 
 (b) Northern zone   2. Udaipur 
 (c) Eastern zone   3. Thanjavur 
 (d) Western zone   4. Kolkatta 
   (a) (b) (c) (d) 
 (A)   4  3  1  2 
 (B)   2  4  1  3 
 (c)     3  1  4  2 
 (d)   1  2  3  4  
 ,e;jpahtpy; fiyikaq;fis mjd; kz;ly jiyikafj;Jld; nghUj;Jf 
 kz;lyk;    jiyikafk; 



 

 

 a. njw;F    1. ghl;bahyh 
 b. tlf;F    2. cja;g+h; 
 c. fpof;F    3. jQ;rht+h; 
 d. Nkw;F    4. nfhy;fj;jh 
  (a) (b) (c) (d) 
 (A)  4  3  1  2 
 (B)  2  4  1  3 
 (c)  3  1  4  2 
 (d) 1  2  3  4  
  

99.  Who was crowned Miss World 2013? 
(A) Ms. Megan Young    (B) Ms. Navneet Kaur Dhillon 
(C) Ms. Ellen Johnson Sirleaf   (D) Ms. Malala Yousufzai 
2013,y; ‘cyf mofp’ (kp]; Nty;l;) gl;lk; #l;lg;gl;lth; ahh;? 
A. kp]; Nkfd; aq;    B. kp];. etePj; nfsh; jpy;yd; 
C. kp];. vy;yd; [hd;]d; ]h;yP/g;  D. kp];. Kyhyh a+r/g;]ha; 
 

100. Who is the Prime Minister of Australia in October 2013? 
 (A) Thomas Bach   (B) Tony Abbott 
 (C) Vladimir Putin  (D) Kevin Rudd 
 2013 mf;Nlhghpy;> M];jpNuypahtpd; gpujkh; ahh;? 
 A. jhk]; gh~;   B. Nlhdp mNghl; 
 C. tpyhbkph; Gbd;  D. nftpd; Ul; 
 
 


